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QUESTION 1

Which two statements describe operations performed by the encapsulating tunnel endpoint in an IP-IP tunnel? (Choose
two.)

A. It decrements the time-to-live (TTL) counter by one in the inner IP header

B. It modifies the source and destination addresses in the inner IP header

C. It adds an outer IP header with the destination address of the remote tunnel endpoint

D. It creates and adds a new inner IP header with the remote destination device\\'s IP address

Correct Answer: AC

QUESTION 2
Click the Exhibit button.
[edit policy-options]
user@router# show
policy-statement load-balance-all ({

then {
load-balance per-packet

You have applied the policy shown in the exhibit to the forwarding table on an MX Series device. How is traffic load-
balanced?

A. per frame

B. per packet
C. per segment
D. per flow

Correct Answer: B

QUESTION 3

Click the Exhibit button.

Latest INO-362 Dumps | JNO-362 PDF Dumps | JN0-362 Braindumps 215


https://www.pass4itsure.com/jn0-362.html
https://www.pass4itsure.com/jn0-362.html
https://www.pass4itsure.com/jn0-362.html

VCE & PDF https://www.pass4itsure.com/jn0-362.html
E 2024 Latest passditsure JN0-362 PDF and VCE dumps Download

PassditSure.com

[edit protocols mpls]
userfrouter¢ show
label-switched-path R1-to-R6 {
to 172.17.20.6;
install 10.3.0.0/24 active;

[edit routing-options]
userfrouter# show
static {
route 10.3.0.0/24 {
lsp-next-hop R1-to-R6;

Both configuration hierarchies shown in the exhibit have been committed to your MX Series device.
Which two statements are true in this scenario? (Choose two.)

A. Traffic destined to 10.3.0.1 will use the R1-to-R6 LSP as a next hop

B. Traffic destined to 10.3.0.1 will not use the R1-to-R6 LSP as a next hop

C. The active 10.3.0.0/24 prefix installed in the route table will have a route preference of 5

D. The active 10.3.0.0/24 prefix installed in the route table will have a route preference of 7

Correct Answer: AD

QUESTION 4

Click the Exhibit button.
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[edit interfaces ge-0/0/3]
userl@router# show
unit 0 {
family inet ({
address 10.1.1.29/31;

[edit protocols bgp group BGP]
user@router# show
multihop;
accept-remote-nexthop;
local-address 10.1.1.29;
advertise-inactive;
damping:;
family inet ({
unicast:
}
family inet-vpn ({
unicast;
}
peer-as 65511;
local-as 65514;
multipath:
allow 10.100.100.0/24;
neighbor 10.1.1.28;

Referring to the exhibit, which two statements are true? (Choose two.)

A. The configuration is for an external BGP session

B. The local-address statement is not required for the BGP session to establish correctly
C. The configuration is for an internal BGP session

D. The local-address statement is required for the BGP session to establish correctly

Correct Answer: CD

Reference: https://www.juniper.net/documentation/en_US/junos/topics/reference/configuration-statement/ local-address-
edit-protocols-bgp.html

QUESTION 5
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Which MPLS feature works with Constrained Shortest Path First (CSPF) to protect against the primary and secondary
paths using the same link?

A. fate-sharing

B. explicit null configuration

C. policy control over LSP selection
D. LSP metrics

Correct Answer: A
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